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0 < pd " 1

µcLn

p(an, θn, Ln) = p(an|θn, Ln) p(θn) p(Ln)

p(Ln) =
µLn
c

Ln!
e−µc

p(θn) =

{
pd θn = 1

1− pd θn = 0
p(an|θn = 1, Ln) =
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1

Ln+1
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{
pd

µMn−1
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µMn
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Mn!
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φ→nν→n

f(xn|xn−1)

gzn(xn′ , an′)

f(xn|y1:n−1) =

∫
f(xn|xn−1)f(xn−1|y1:n−1)dxn−1

φ→n(xn) =

∫
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ν→n+1φ→n

ν→n+1(xn) = φn(xn)φ→n(xn)

gzn(xn′ , an′)
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{
(x(j)

n )
}J

j=1
' f(xn|y1:n−1)

{
(x(j)

n )
}J

j=1
' f(xn|y1:n)

{
(x(j)

n )
}J

j=1
' f(xn|y1:n)

fp(xn) = f(xn|y1:n−1)

w(j)
n = w̃(j)

n /
∑J

j′=1
w̃(j′)

n , j = 1, . . . , J

{
(x(j)

n , w(j)
n )

}J

j=1
' f(xn|y1:n)

ft(xn) ∝ φn(xn)f(xn|y1:n−1)

w̃(j)
n =

∑Mn

m=0
gzn(x

(j)
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an ∈ {0, 1, . . . ,Mn}

Mn = 4
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������������	


an = 2
z1,n

z2,n z3,n z4,n

xn

m
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f(xn|y1:n−1)︸ ︷︷ ︸
Predicted

posterior pdf

=

∫
f(xn|xn−1)︸ ︷︷ ︸
State-transition

pdf

f(xn−1|y1:n−1)︸ ︷︷ ︸
Previous

posterior pdf

dxn−1

f(xn|z1:n)︸ ︷︷ ︸
Posterior pdf

∝ f(xn|z1:n−1)︸ ︷︷ ︸
Predicted

posterior pdf

Mn∑

m=0

gzn(xn, an =m)

= f(xn|z1:n−1)

(
(1− pd)+

pdf(zm,1|xn)

µcfc(zm,1)
+ · · ·+ pdf(zm,Mn |xn)

µcfc(zm,Mn)

)
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0 < pd ! 1

f(xn|z1:n) ∝ f(xn|z1:n−1)

(
(1− pd)+

pdf(z1,n|xn)

µcfc(z1,n)
+ · · ·+ pdf(zMn,n|xn)

µcfc(zMn,n)

)
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0 < pd ! 1

0 < µc

f(xn|z1:n) ∝ f(xn|z1:n−1)

(
(1− pd)+

pdf(z1,n|xn)

µcfc(z1,n)
+ · · ·+ pdf(zMn,n|xn)

µcfc(zMn,n)

)
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0 < pd ! 1

0 < µc

0 < fc(zm)

f(xn|z1:n) ∝ f(xn|z1:n−1)

(
(1− pd)+

pdf(z1,n|xn)

µcfc(z1,n)
+ · · ·+ pdf(zMn,n|xn)

µcfc(zMn,n)

)
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xn

xn = Gnxn−1 + un︸︷︷︸
driving noise (white)

un ∼ N (0,Σun)

n = 0 x0 ∼ N (µx0 ,Σx0)

vn ∼ N (0,Σvn)

yn

yn� �����
�� � ������	� �� ������ ��
 � ������	� �� ������������

� ����� ��� �� �

⇒ f(xn|xn−1) ⇒ f(yn,m|xn)

yn,m = Hnxn + vn︸︷︷︸
measurement noise (white)
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f(xn−1|y1:n−1) µxn−1 Σxn−1

µ−
xn

= Gnµxn−1 Σ−
xn

= GnΣxn−1G
T

n +Σun

µ−
xn

Σ−
xn

f(xn|y1:n−1)

f(xn|y1:n)

µxn Σxn
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f(x) =
K∑

k=1

wk fg(x;µk,Σk)

x
K µk Σk k= 1, . . . ,K

wk > 0
∑K

k=1
wk = 1

fg(x;µk,Σk) µk Σk

f(x)

xK = 3

wk
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µk Σk k= 1, . . . ,Kwkf(x)

f(x)

f(x)

µx = w1µ1 + w2µ2 + · · ·+ wKµK

Σx =
∑K

k=1
wkΣk +

∑K
k=1

wkµkµT

k − µxµT
x

�������	
��
�
������� ��



�	�������

������������
� �	���������	�
����
���
���
������������
�����	��	�����������

�	��

� ����������
���	���	�
��	������	�
��������������������������
�������
�����
����	���������������
�����
���	���������������	����	��
�����	����	����	�	���	���	����	�	���
���
�	���
�����
������	���������������������
���������
����
����	��
���
���
����
����������������������	����
���������	�	��

z1:n

Mn + 1

µm = µ−
xn

+Kn

(
zm,n −Hnµ

−
xn

)

Σm = Σ−
xn

−KnHnΣ
−
xn

m ∈ {1, . . . ,Mn}

µMn+1 = µ−
xn

ΣMn+1 = Σ−
xn

f(xn|z1:n)

µ−
xn

Σ−
xn

�����������

f(xn|z1:n) ∝ f(xn|z1:n−1)

(
(1− pd)+

pdf(z1,n|xn)

µcfc(z1,n)
+ · · ·+ pdf(zMn,n|xn)

µcfc(zMn,n)

)

wm ∝ pdf(zm,n|z1:n)
µcfc(zm,n)

wMn+1 ∝ (1− pd)
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f(xn|z1:n−1)
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m ∈ {1, . . . ,Mn}
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pdf(zm,n|xn)f(xn|z1:n−1)

µcfc(zm,n)
=

pdf(zm,n|xn, z1:n−1)f(xn|z1:n−1)

µcfc(zm,n)

=
pdf(zm,n,xn|z1:n−1)

µcfc(zm,n)

=
pdf(zm,n|z1:n−1)

µcfc(zm,n)
f(xn|z1:n−1, zm,n)

=
pdf(zm,n|z1:n−1)

µcfc(zm,n)
fg(xn;µm,Σm)

Kn = Σ−
xn

HT

n

(
HnΣ

−
xn

HT

n +Σvn

)−1

µm = µ−
xn

+Kn

(
zm,n −Hnµ

−
xn

)

Σm = Σ−
xn

−KnHnΣ
−
xn

f(zm,n|z1:n−1)
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f(zm,n|z1:n−1) = fg(zm,n;Hnµ
−
xn

,HnΣ
−
xn

HT

n +Σvn)
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pd

f(zm,n|z1:n) zm,n

µcfc(zm,n)

wMn+1 ∝ (1− pd)

µm,Σm,m = 1, . . . ,Mn + 1

m = 1, . . . ,Mn

m = Mn + 1

wm ∝ pdf(zm,n|z1:n)/µcfc(zm,n), m = 1, . . . ,Mn

µm,Σm,m = 1, . . . ,Mn + 1
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f(xn−1|z1:n−1)

�	���
�	
���������n− 1

f(xn|z1:n−1)

�
���������	���
�	
���������n

f(xn|z1:n)
�	���
�	
���������n

(Mn = 2)
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f(xn−1|z1:n−1) K

f(xn−1|z1:n−1) K

n

n

f(xn|z1:n−1)

K(Mn + 1) ⇒

f(xn|z1:n)
µxn Σxn
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µm = µ−
xn

+Kn

(
zm,n −Hnµ

−
xn

)
µMn+1 = µ−

xn

ΣMn+1 = Σ−
xn

m = 1, . . . ,Mn

m = 1, . . . ,Mn w̃Mn+1 = (1− pd)

Σm = Σ−
xn

−KnHnΣ
−
xn

Kn = Σ−
xn

HT

n

(
HnΣ

−
xn

HT

n +Σvn

)−1

wm = w̃m/
(∑Mn+1

m′=1
w̃m′

)

Σxn =
∑Mn+1

m=1
wmΣm +

∑Mn+1

m=1
wmµmµT

m − µxnµ
T
xn

f(xn|z1:n)µxn
Σxn

µxn =
∑Mn+1

m=1
wmµm
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w̃m =
pdfg(zm,n;Hnµ−

xn
,HnΣ−

xn
HT

n +Σvn)

µcfc(zm,n)



����������
� �
�	
� ������ �����
�	 
� �
����� ��� 

����������
�� ������ ����
�

� ����
��
�
 �
� ������ ����� ��
 �� ��������� 

 �����������

� ������
�� �
���
���
�
� ��� �����
�
 �
����� ��
�
�
�� �
�	 � 
����� �� �����
�
�� �	��
������ ����
�
�
���� �
�	 �
��

� �� �
�
� ��������
�
�� �������
��� �	� ������
�� �
���
���
�
 
� ������
���� �� � �

���
�����
�
 ����� ���	 ������ ����

���
�
	�������
������ ��



���������
	�����
���
�� �����
��
�����������������	������	���

��

����������� � ! �������
����������$
���� ��������������! �������������������� ��� 


��"���� $������������������������

��	
��������

���� �#����#� ��	�������������&������������&��� ��������  &���������%����#� ���



� ������
����������������������������
��������������������������������������������������������������
���������������������������������������������������������
��������������	��

���������������������
��������	�����������
���
�
�����������	�������
�����������

���������
���
���

��
��������������
���
������
����������������������������������������������������
�
�	���
���

�
������������� ����
��	��������

Object States xn−1

Measurements zn−1 Object States xn

Measurements zn

n− 1

n− 1

n

n

n

�

xn = [x
T

1,n . . . x
T

I,n
]
T

zn = [z
T

1,n . . . z
T

Mn,n
]
T

xi,n

ui,n

xi,n = g(xi,n−1,ui,n)
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Object States xn−1

Measurements zn−1 Object States xn

Measurements zn

n− 1

n− 1

n

n

n
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�

xn = [xT

1,n . . . xT

I,n]
T

zn = [zT

1,n . . . zT

Mn,n]
T

zm,n

zm,n = h(xk,n,vm,n)

vm,n
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Object States xn−1

Measurements zn−1 Object States xn

Measurements zn

n− 1

n− 1

n

n
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n

�

zn = [z
T

1,n . . . z
T

Mn,n
]
T

xn = [x
T

1,n . . . x
T

I,n
]
T
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Object States xn−1

Measurements zn−1 Object States xn

Measurements zn

n− 1

n− 1

n

n

n

�

zn = [zT

1,n . . . zT

Mn,n]
T

xn = [xT

1,n . . . xT

I,n]
T
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Object States xn−1

Measurements zn−1 Object States xn

Measurements zn

n− 1

n− 1

n

n

n

�

xn = [x
T

1,n . . . x
T

I,n
]
T

zn = [z
T

1,n . . . z
T

Mn,n
]
T
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Mn = 4

n

�

�����	������

���	�

��
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n i

i

n

an = [a1,n a2,n . . . aI,n ]
T

zn = [zT
1,n zT

2,n . . . zT

Mn,n
]T

a1,n = 2

a2,n = 0

a3,n = 4

z4,n

x3,n
x2,n

x1,n

z1,n

z3,nz2,n

ai,n = m > 0

ai,n = 0

m

I = 3
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� �����������  �! ��� �������� �� ��� ���
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 ����

� ���������������������������������������������������������������������������������������������������
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� ���������� " ��� �� ��	����� �� ��� 	�������
 ����� 	�������

0 < pd ! 1

µc

an = [a1,n . . . aI,n]
T

ai,n

ϕ(an) "
{
0, ∃i, j∈ {1, 2, . . . , I} such that i #=j and ai,n= aj,n #= 0

1 , otherwise
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p(an,Mn)

an

p(an,Mn)

�
��
�������������������������	������������������������������

Dan =
{
i ∈ {1, . . . , I}|ai,n > 0

}

∑∞
Mn=0

∑Mn

a1,n=0
· · ·

∑Mn

aI,n=0
p(an,Mn) = 1

p(an,Mn) = ϕ(an)

( pd
µc(1− pd)

)|Dan | e−µcµMn
c

Mn!

(
1− pd

)I
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p(an,Mn) =
e−µcµMn

c

Mn!

(
1− pd

)I
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p(an = ad

n,Mn = I) =
e−µc

I!
pI
d
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����������	 �	�����������
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ad

1, 2, . . . , I
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n = 0
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n
x0
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f(x0) =

I∏

i=1

f(xi,0)

f(xn|xn−1) =

I∏

i=1

f(xi,n|xi,n−1)

f(x0:n) = f(x0)

n∏

n′=1

f(xn′ |xn′−1)

=

( I∏

j=1

f(xj,0)

) n∏

n′=1

I∏

i=1

f(xi,n′ |xi,n′−1)
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zn ∈RMnd

zn /∈RMnd
f(zn|xn, an,Mn) = 0

���������	
��
��������������������������������������
��	
��� vn

fc(zm,n)

zm,n = hn(xn,vn)

xi,n zai,n,n

f(zn|xn, an,Mn) =

( ∏

i∈Dan

f(zai,n,n|xi,n)

fc(zai,n,n)

) Mn∏

m=1

fc(zm,n)
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f(z1:n|x1:n,a1:n,M1:n) =

n∏

n′=1

f(zn′ |xn′ , an′ ,Mn′)

p(a1:n,M1:n) =

n∏

n′=1

p(an′ ,Mn′)

a1:n M1:n
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M1:n z1:n
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x0:n⊥⊥a1:n,M1:n

����������

�	���M1:nf(x0:n,a1:n|z1:n) = f(x0:n,a1:n,M1:n|z1:n)

∝ f(z1:n|x1:n,a1:n,M1:n)f(x0:n,a1:n,M1:n)

= f(z1:n|x1:n,a1:n,M1:n)f(x0:n)p(a1:n,M1:n)

=

( I∏

j=1

f(xj,0)

) n∏

n′=1

( I∏

i=1

f(xi,n′ |xi,n′−1)

)
f(zn′ |xn′ ,an′ ,Mn′)p(an′ ,Mn′)
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z1:n

n

n

x̂i,n, i ∈ {1, . . . , I}

x̂i,n f(xi,n|z1:n)

f(x0:n,a1:n|z1:n) ∝
( I∏

j=1

f(xj,0)

) n∏

n′=1

( I∏

i=1

f(xi,n′ |xi,n′−1)

)
f(zn′ |xn′ ,an′ ,Mn′)p(an′ ,Mn′)

�������	
��
�
�������



� ������ ����
�	���	
� 
� ��� 

	�� �
����	
� �	���	���	
��

��������	�����
�

��

	���
����������
��

f(x0:n,a1:n|z1:n) ∝
( I∏

j=1

f(xj,0)

) n∏

n′=1

( I∏

i=1

f(xi,n′ |xi,n′−1)

)
f(zn′ |xn′ ,an′ ,Mn′)p(an′ ,Mn′)
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g1(xi,n, ai,n) =






f(zai,n,n|xn)

fc(zai,n,n)
ai,n ∈ {1, . . . ,Mn}

1 ai,n = 0
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f(zn|xn,an,Mn) =

( ∏

i∈Dan

f(zai,n,n|xi,n)

fc(zai,n,n)

) Mn∏

m=1

fc(zm,n)

f(x1:n,a1:n|z1:n) ∝
( I∏

j=1

f(xj,0)

) n∏

n′=1

( I∏

i=1

f(xi,n′ |xi,n′−1)

)
f(zn′ |xn′ ,an′ ,Mn′)p(an′ ,Mn′)

∝
( I∏

j=1

f(xj,0)

) n∏

n′=1

( I∏

i=1

f(xi,n′ |xi,n′−1)g1(xi,n′ , ai,n′)g2(ai,n′)

)
ϕ(an′)
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��������p(an,Mn) = ϕ(an)

( pd
µc(1− pd)

)|Dan | e−µcµMn
c

Mn!

(
1− pd

)I

g2(ai,n) =

{
pd

µc(1−pd)
ai,n ∈ {1, . . . ,Mn}

1 ai,n = 0
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�������

f(x1:n,a1:n|z1:n) ∝
( I∏

j=1

f(xj,0)

) n∏

n′=1

( I∏

i=1

f(xi,n′ |xi,n′−1)

)
f(zn′ |xn′ ,an′ ,Mn′)p(an′ ,Mn′)

∝
( I∏

j=1

f(xj,0)

) n∏

n′=1

( I∏

i=1

f(xi,n′ |xi,n′−1)g1(xi,n′ , ai,n′)g2(ai,n′)

)
ϕ(an′)
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gzn(xi,n, ai,n) = g1(xi,n, ai,n)g2(ai,n) =






pdf(zai,n,n|xi,n)

µcfc(zai,n,n)
ai,n ∈ {1, . . . ,Mn}

(1− pd) ai,n = 0
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f(x1:n,a1:n|z1:n) ∝
( I∏

j=1

f(xj,0)

) n∏

n′=1

( I∏

i=1

f(xi,n′ |xi,n′−1)

)
f(zn′ |xn′ ,an′ ,Mn′)p(an′ ,Mn′)

∝
( I∏

j=1

f(xj,0)

) n∏

n′=1

( I∏

i=1

f(xi,n′ |xi,n′−1)g1(xi,n′ , ai,n′)g2(ai,n′)

)
ϕ(an′)

∝
( I∏

j=1

f(xj,0)

) n∏

n′=1

( I∏

i=1

f(xi,n′ |xi,n′−1)gzn(xi,n′ , ai,n′)

)
ϕ(an′)
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ϕ(an)

an

x1,n

xI,n

f(xi,n′ |xi,n′−1)

gzn(xi,n′ , ai,n′)
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f(x1:n,a1:n|z1:n) ∝
( I∏

j=1

f(xj,0)

) n∏

n′=1

( I∏

i=1

f(xi,n′ |xi,n′−1)gzn(xi,n′ , ai,n′)

)
ϕ(an′)



��������	�����

� ����
��

� �����

� ����
� ����	 �
� �
�� ����

��

�

�

n

ϕ(an)

an

x1,n

xI,n

f(xi,n′ |xi,n′−1)

gzn(xi,n′ , ai,n′)

ν→1,n φ→1,n

ν→I,n φ→I,n

φ→i,n(xi,n) =

∫
f(xi,n|xi,n−1) ν→i,n(xi,n−1)dxi,n−1
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n

ϕ(an)

an

x1,n

xI,n

f(xi,n′ |xi,n′−1)

gzn(xi,n′ , ai,n′)

νai,n(xi,n) = φ→i,n(xi,n)

φai,n(ai,n) =

∫
gzn(xi,n, ai,n) νai,n(xi,n)dxi,n

νa1,n

νaI,
n

φaI,
n

φa1,n
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n

ϕ(an)

an

x1,n

xI,n

f(xi,n′ |xi,n′−1)

gzn(xi,n′ , ai,n′)

φx
1,n νx

1 ,n

νxI
,n

φxI,
n

φxi,n(xi,n) =

∑

an

gzn(xi,n, ai,n) νxi,n(an)

ϕ

����
�
����	�	�������

νxi,n(an) = ϕ(an)

∏

i=1

i=i′

φai′,n(ai′,n)
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ϕ(an)

an

x1,n

xI,n

f(xi,n′ |xi,n′−1)

gzn(xi,n′ , ai,n′)

φxI,
n

φ→1,n

φ→I,n

ν→1,n+1

ν→I,n+1

φx
1,n

ν→i,n+1(xi,n) = φi,n(xi,n)φ→i,n(xi,n)
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f̃(xi,n) ∝ φ→i,n(xi,n)φxi,n(xi,n) f(xi,n|z1:n) ≈ f̃(xi,n)
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�
������������

n xn = [xT
1,n . . . xT

I,n]
T

zn = [zT
1,n . . . zT

Mn,n]
T

Object States xn−1

Measurements zn−1 Object States xn

Measurements zn

n− 1

n− 1

n

n
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 � ��������������	������
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� �����������  �! ��� �������� �� ��� ���
�� ��
��� �������
 ����

� ���������������������������������������������������������������������������������������������������
	��	����������������! ��������������������������������������	����������
����

� ���������� " ��� �� ��	����� �� ��� 	�������
 ����� 	�������

0 < pd ! 1

µc

an = [a1,n . . . aI,n]
T

ai,n

ϕ(an) "
{
0, ∃i, j∈ {1, 2, . . . , I} such that i #=j and ai,n= aj,n #= 0

1 , otherwise
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 ������������� �� �
� ����� ��������� �������������

� ������ 	���
 ��� ���� ����

�

�

�

n

an

x1,n

xI,n

f(xi,n′ |xi,n′−1)

gzn(xi,n′ , ai,n′)

f(x1:n,a1:n|z1:n) ∝
( I∏

j=1

f(xj,0)

) n∏

n′=1

( I∏

i=1

f(xi,n′ |xi,n′−1)gzn(xi,n′ , ai,n′)

)
ϕ(an′)

ϕ(an)
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�

�

�

n

ϕ(an)

an

x1,n

xI,n

f(xi,n′ |xi,n′−1)

gzn(xi,n′ , ai,n′)

ν→1,n φ→1,n

ν→I,n φ→I,n

φ→i,n(xi,n) =

∫
f(xi,n|xi,n−1) ν→i,n(xi,n−1)dxi,n−1
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�
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�

n

ϕ(an)

an

x1,n

xI,n

f(xi,n′ |xi,n′−1)

gzn(xi,n′ , ai,n′)

νai,n(xi,n) = φ→i,n(xi,n)

φai,n(ai,n) =

∫
gzn(xi,n, ai,n) νai,n(xi,n)dxi,n

νa1,n

νaI,
n

φaI,
n

φa1,n
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�

�

�ϕ(an)

an

x1,n

xI,n

f(xi,n′ |xi,n′−1)

gzn(xi,n′ , ai,n′)

φxI,
n

φ→1,n

φ→I,n

φx
1,n

ν→i,n+1(xi,n) = φi,n(xi,n)φ→i,n(xi,n)
����
����
��������
������	�
���
������������

n

f̃(xi,n) ∝ φ→i,n(xi,n)φxi,n(xi,n) f(xi,n|z1:n) ≈ f̃(xi,n)
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��

g̃zn(xi,n, ai,n) = gzn(xi,n, ai,n)κxi,n(ai,n)


�
��	��	��
����	�����	����
����	�	��
����	��

����������
��
����	����	��	�
�	��
����������f̃(xi,n) ∝ φ→i,n(xi,n)φxi,n(xi,n)

= φ→i,n(xi,n)
∑

an

gzn(xi,n, ai,n) νxi,n(an)

= φ→i,n(xi,n)
Mn∑

ai,n=0

gzn(xi,n, ai,n)
Mn∑

a1,n=0

· · ·
Mn∑

ai−1,n=0

Mn∑

ai+1,n=0

· · ·
Mn∑

aI,n=0

νxi,n(an)

︸ ︷︷ ︸
κxi,n (ai,n)

= φ→i,n(xi,n)
Mn∑

ai,n=0

gzn(xi,n, ai,n)κxi,n(ai,n)

= φ→i,n(xi,n)
Mn∑

ai,n=0

g̃zn(xi,n, ai,n)
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� ��������
�� ���������������
	�����

����������������
��������������������	���������������

��

n

gzn(xi,n, ai,n)
g̃zn(xi,n, ai,n) = gzn(xi,n, ai,n)κxi,n(ai,n)

i∈ {1, . . . , I}

κxi,n(ai,n)

i∈ {1, . . . , I}

κxi,n(ai,n)

f̃(xi,n−1) ≈ f(xi,n−1|z1:n−1)

φ→i,n(xi,n) =
∫
f(xi,n|xi,n−1) f̃(xi,n−1)dxi,n−1
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m = 1, . . . ,Mn

m = 1, . . . ,Mn

wm = w̃m/
(∑Mn+1

m′=1 w̃m′
)

��

����
����
���������
����
���	����
������
��������
����	����������	���������
�
���������������������

��������

w̃(i)
Mn+1 = (1− pd)κxi,n(ai,n = 0)

µm = µ−
xi,n

+Ki,n

(
zm,n −Hi,nµ

−
xi,n

)

Ki,n = Σ−
xi,n

HT
i,n

(
Hi,nΣ

−
xi,n

HT
i,n +Σvi,n

)−1

Σm = Σ−
xi,n

−Ki,nHi,nΣ
−
xi,n

µMn+1 = µ−
xi,n

ΣMn+1 = Σ−
xi,n

w̃m =
pdfg(zm,n;Hi,nµ−

xi,n
,Hi,nΣ−

xi,n
HT

i,n +Σvi,n)κxi,n(ai,n =m)

µcfc(zm,n)

µxi,n =
∑Mn+1

m=1 wmµm Σxi,n =
∑Mn+1

m=1 wmΣm +
∑Mn+1

m=1 wmµmµT
m − µxi,nµ

T
xi,n

µxi,n Σxi,n f̃(xi,n)
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��

w(j)
i,n = w̃(j)

i,n/
∑J

j′=1 w̃
(j′)
i,n , j = 1, . . . , J

w̃(j)
i,n =

∑Mn

m=0 g̃zn(x
(j)
i,n, ai,n =m) ∝ ft(x

(j)
i,n)/fp(x

(j)
i,n)

fp(xi,n) = φ→i,n(xi,n)

ft(xi,n) ∝ φxi,n(xi,n)φ→i,n(xi,n) = φ→i,n(xi,n)
∑Mn

m=0 g̃zn(xi,n, ai,n =m)

{
(x(j)

i,n)
}J

j=1
' φ→i,n(xi,n)

{
(x(j)

i,n)
}J

j=1
' f̃(xi,n)

{
(x(j)

i,n)
}J

j=1
' f̃(xi,n)

{
(x(j)

i,n, w
(j)
i,n)

}J

j=1
' f̃(xi,n)
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� ����� �
� �	�� ����

��

�

�

n

ϕ(an)

an

x1,n

xI,n

f(xi,n′ |xi,n′−1)

gzn(xi,n′ , ai,n′)

νai,n(xi,n) = φ→i,n(xi,n)

φai,n(ai,n) =

∫
gzn(xi,n, ai,n) νai,n(xi,n)dxi,n

νa1,n

νaI,
n

φaI,
n

φa1,n
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� ������ 	���
 ��� ��
� ����

��

�

�

n

ϕ(an)

an

x1,n

xI,n

f(xi,n′ |xi,n′−1)

gzn(xi,n′ , ai,n′)

νa1,n

νaI,
n

φaI,
n

φa1,n

νai,n(xi,n) = fg(xi,n;µ
−
xi,n

,Σ−
xi,n

)φai,n(ai,n = 0) = (1− pd)

φai,n(ai,n =m) =
pdfg(zm,n;Hi,nµ−

xi,n
,Hi,nΣ−

xi,n
HT

i,n +Σvi,n)

µcfc(zm,n)
, m ∈ {1, . . . ,Mn}
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� ������ 	���
 ��� ��
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��

�

�

n

ϕ(an)

an

x1,n

xI,n

f(xi,n′ |xi,n′−1)

gzn(xi,n′ , ai,n′)

νa1,n

νaI,
n

φaI,
n

φa1,n

νai,n(xi,n) '
{(
x(j)
i,n

)}J

j=1
φai,n(ai,n) ≈

1

J

J∑

j=1

gzn(x
(j)
i,n, ai,n)
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��

�

�

n

ϕ(an)

an

x1,n

xI,n

f(xi,n′ |xi,n′−1)

gzn(xi,n′ , ai,n′)

φx
1,n νx

1 ,n

νxI
,n

φxI,
n

φxi,n(xi,n) =
∑

an

gzn(xi,n, ai,n) νxi,n(an)

ϕ

�������	
��
�
�������

νxi,n(an) = ϕ(an)
∏

i=1
i=i′

φai′,n(ai′,n)
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ϕ(an) "
{
0, ∃i, j∈ {1, 2, . . . , I} such that i #=j and ai,n= aj,n #= 0

1 , otherwise

κxi,n(ai,n) O
(
(Mn + 1)I

)

I

κxi,n(ai,n)

κxi,n(ai,n) =
Mn∑

a1,n=0

· · ·
Mn∑

ai−1,n=0

Mn∑

ai+1,n=0

· · ·
Mn∑

aI,n=0

νxi,n(an)

=
Mn∑

a1,n=0

· · ·
Mn∑

ai−1,n=0

Mn∑

ai+1,n=0

· · ·
Mn∑

aI,n=0

ϕ(an)
I∏

i′=1
i′ #=i

φai′,n(ai′,n)
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b = [b1, b2, . . . , bM ]T

a = [a1, a2, . . . , aI ]
T

n

ai "
{
m ∈ {1, 2, . . . ,M} , if object i generated measurement m
0 if object i did not generate a measurement

bm "
{
i ∈ {1, 2, . . . , I} , if measurement m is generated by object i
0 if measurement m was not generated by an object
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b = [b1, b2, . . . , bM ]T

a
b

	����
�	����a b

Objects

Measurements

Objects

Measurements

Objects

Measurements

�
���������������	�
���������������
�
�����������
�

�
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������������
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a = [a1, a2, . . . , aI ]
T
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ψ(a, b) ∝
I∏

i=1

M∏

m=1

Ψim(ai, bm)

Ψim

(
ai , bm

)
"






0 , ai=m, bm #= i
or bm= i, ai #=m

1 , otherwise.

a b

ψ(a, b)

Ψkm

(
ak , bm

)

a b ϕ(a) =
∑

b ψ(a, b)

ϕ(a)

ϕ

�

�

�

�

�

a1

aI

b1

bM

Ψ11

ΨIM

Ψ1M

ΨI1
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�

�
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�

a1

aI

b1

bM

Ψ11

ΨIM

Ψ1M

ΨI1

κ̃xi,n(ai)

φ[!]
Ψi,m→ai

(ai) =
I∑

bm=0

Ψim

(
ai, bm

) I∏

i′=1
i′ #=i

φ[!−1]
Ψi′m→bm

(bm)

# ∈ {1, . . . , L}

# = 0

φ[!]
Ψim→bm

(
bm

)
=

M∑

ai=0

φai,n(ai)Ψim(ai, bm)
M∏

m′=1
m′ #=m

φ[!]
Ψim′→ai

(ai)

φ[0]
Ψim→bm

(
bm

)
=

∑M
ai=0 φai(ai)Ψim(ai, bm)
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a1

aI

b1

bM

Ψ11

ΨIM

Ψ1M

ΨI1

κ̃xi,n(ai)

" ∈ {1, . . . , L}

" = 0 φ
[0]
Ψim→bm

(
bm

)
=

∑M

ai=0 φai(ai)Ψim(ai, bm)

φ
[!]
Ψim→bm

(
bm

)
=

M∑

ai=0

φai,n(ai)Ψim(ai, bm)
M∏

m
′=1

m
′ #=m

φ
[!]
Ψim′→ai

(ai)

φ
[!]
Ψi,m→ai

(ai) =
I∑

bm=0

Ψim

(
ai, bm

) I∏

i
′=1
i
′ #=i

φ
[!−1]
Ψi′m→bm

(bm)

������
�
����	�	�������



� ���
�	
�����

�����
�
����
��	��	���������������������
���������������������
��������

�������
���

� ����
����
�����������
�����������������������������������
�	��	����
��


���������������
����
�����������
�

� �����������������������������

� �
��������
���������������
���������

�����������������������	�	�
����
����������
������

�

�

�

�

�

a1

aI

b1

bM

Ψ11

ΨIM

Ψ1M

ΨI1

κ̃xi,n(ai)

" ∈ {1, . . . , L}

" = 0

" = L κ̃xi(ai) =
∏M

m=1 φ
[L]
Ψim→ai

(ai)

κ̃x1(a1)

κ̃xI(aI)

φ[0]
Ψim→bm

(
bm

)
=

∑M
ai=0 φai(ai)Ψim(ai, bm)

φ[!]
Ψim→bm

(
bm

)
=

M∑

ai=0

φai,n(ai)Ψim(ai, bm)
M∏

m′=1
m′ #=m

φ[!]
Ψim′→ai

(ai)

φ[!]
Ψi,m→ai

(ai) =
I∑

bm=0

Ψim

(
ai, bm

) I∏

i′=1
i′ #=i

φ[!−1]
Ψi′m→bm

(bm)
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" ∈ {1, . . . , L}

" = 0

" = L

φ[!]
Ψi,m→ai

(ai) =
I∑

bm=0

Ψim

(
ai, bm

) I∏

i′=1
i′ #=i

φ[!−1]
Ψi′m→bm

(bm)

�

�

�

�

�

a1

aI

b1

bM

Ψ11

ΨIM

Ψ1M

ΨI1

ps(ai)pj(ai)

pj(ai) = ps(ai)
∏M

m=1 φ
[L]
Ψim→ai

(ai)

φ
[0]
Ψim→bm

(
bm

)
=

∑M

ai=0 ps(ai)Ψim(ai, bm)

φ
[!]
Ψim→bm

(
bm

)
=

M∑

ai=0

ps(ai)Ψim(ai, bm)
M∏

m
′=1

m
′ #=m

φ
[!]
Ψim′→ai

(ai)

ps(a1)

ps(aI)

âi = argmax pj(ai), i ∈ {1, . . . , I}
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n xn = [xT
1,n . . . xT

I,n]
T

zn = [zT
1,n . . . zT

Mn,n]
T

Object States xn−1

Measurements zn−1 Object States xn

Measurements zn

n− 1

n− 1

n

n
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n

gzn(xi,n, ai,n)
g̃zn(xi,n, ai,n) = gzn(xi,n, ai,n)κxi,n(ai,n)

i∈ {1, . . . , I}

κxi,n(ai,n)

i∈ {1, . . . , I}

κxi,n(ai,n)

f̃(xi,n−1) ≈ f(xi,n−1|z1:n−1)

φ→i,n(xi,n) =
∫
f(xi,n|xi,n−1) f̃(xi,n−1)dxi,n−1
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ϕ(an) !
{
0, ∃i, j∈ {1, 2, . . . , I} such that i $=j and ai,n= aj,n $= 0

1 , otherwise

κxi,n(ai,n) O
(
(Mn + 1)I

)

I

κxi,n(ai,n)

����
�
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κxi,n(ai,n) =
Mn∑

a1,n=0

· · ·
Mn∑

ai−1,n=0

Mn∑

ai+1,n=0

· · ·
Mn∑

aI,n=0

νxi,n(an)

=
Mn∑

a1,n=0

· · ·
Mn∑

ai−1,n=0

Mn∑

ai+1,n=0

· · ·
Mn∑

aI,n=0

ϕ(an)
I∏

i′=1
i′ #=i

φai′,n(ai′,n)
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ψ(a, b) ∝
I∏

i=1

M∏

m=1

Ψim(ai, bm)

Ψim

(
ai , bm

)
!






0 , ai=m, bm $= i
or bm= i, ai $=m

1 , otherwise.

a b

ψ(a, b)

Ψkm

(
ak , bm

)

a b ϕ(a) =
∑

b ψ(a, b)

ϕ(a)

ϕ

�

�

�

�

�

a1

aI

b1

bM

Ψ11

ΨIM

Ψ1M

ΨI1
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a1

aI

b1

bM

Ψ11

ΨIM

Ψ1M

ΨI1

κ̃xi,n(ai)

" ∈ {1, . . . , L}

" = 0

φ[!]
Ψim→bm

(
bm

)
=

M∑

ai=0

φai,n(ai)Ψim(ai, bm)
M∏

m′=1
m′ #=m

φ[!]
Ψim′→ai

(ai)

φ[0]
Ψim→bm

(
bm

)
=

∑M
ai=0 φai(ai)Ψim(ai, bm)

�

φ[!]
Ψim→ai

(ai) =
I∑

bm=0

Ψim

(
ai, bm

) I∏

i′=1
i′ #=i

φ[!−1]
Ψi′m→bm

(bm)
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a1

aI

b1

bM

Ψ11

ΨIM

Ψ1M

ΨI1

κ̃xi,n(ai)

" ∈ {1, . . . , L}

" = 0 φ
[0]
Ψim→bm

(
bm

)
=

∑M

ai=0 φai(ai)Ψim(ai, bm)

�

φ
[!]
Ψim→ai

(ai) =
I∑

bm=0

Ψim

(
ai, bm

) I∏

i
′=1
i
′ #=i

φ
[!−1]
Ψi′m→bm

(bm)

φ
[!]
Ψim→bm

(
bm

)
=

M∑

ai=0

φai(ai)Ψim(ai, bm)
M∏

m
′=1

m
′ #=m

φ
[!]
Ψim′→ai

(ai)

����
�
����	�	�������



� ���
�	
�����

�����
�
����
��	��	���������������������
���������������������
��������

�������
���

� ����
����
�����������
�����������������������������������
�	��	����
��


���������������
����
�����������
�

� �����������������������������

� �
��������
���������������
���������

�����������������������	�	�
����
����������
������

�

�

�

�

�

a1

aI

b1

bM

Ψ11

ΨIM

Ψ1M

ΨI1

κ̃xi,n(ai)

" ∈ {1, . . . , L}

" = 0

" = L κ̃xi(ai) =
∏M

m=1 φ
[L]
Ψim→ai

(ai)

κ̃x1(a1)

κ̃xI(aI)

φ[0]
Ψim→bm

(
bm

)
=

∑M
ai=0 φai(ai)Ψim(ai, bm)

�

φ[!]
Ψim→bm

(
bm

)
=

M∑

ai=0

φai(ai)Ψim(ai, bm)
M∏

m′=1
m′ #=m

φ[!]
Ψim′→ai

(ai)

(
i ∈ {1, . . . , I},m ∈ {1, . . . ,M}

)

φ[!]
Ψim→ai

(ai) =
I∑

bm=0

Ψim

(
ai, bm

) I∏

i′=1
i′ #=i

φ[!−1]
Ψi′m→bm

(bm)
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Ψim

(
ai, bm

)

φ[!]
Ψim→bm

(
bm

)
=






φai(m)
∏M

m′=1
m′ #=m

φ[!]
Ψim′→ai

(m), for bm = i

∑M
ai=0
ai #=m

φai(ai)
∏M

m′′=1
m′′ #=m

φ[!]
Ψim′′→ai

(ai), for bm $= i

φ[!]
Ψim→ai

(ai) =






∏I
i′=1
i′ #=i

φ[!−1]
Ψi′m→bm

(bm = i), for ai = m

∑I
bm=0
bm #=i

∏I
i′′=1
i′′ #=i

φ[!−1]
Ψi′′m→bm

(bm), for ai $= m
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φ[!]
Ψim→ai

(ai) ∝






∏I

i′=1
i′ #=i

φ[!−1]
Ψi′m→bm

(i)

∑I
bm=0
bm #=i

∏I

i′′=1
i′′ #=i

φ[!−1]
Ψi′′m→bm

(bm)
, for ai = m

1, for ai $= m

φ[!]
Ψim→bm

(
bm

)
∝






φai (m)
∏M

m′=1
m′ #=m

φ[!]
Ψim′→ai

(m)

∑M
ai=0
ai #=m

φai (ai)
∏M

m′′=1
m′′ #=m

φ[!]
Ψim′′→ai

(ai)
, for bm = i

1, for bm $= i
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φ[!]
Ψim→bm

(
bm

)
∝






φai (m)

φai (0)+
∑M

m′=1
m′ #=m

φai (m
′)φ[!]

Ψim′→ai
(m′)

, for bm = i

1, for bm $= i

φ[!]
Ψim→ai

(ai) ∝






1

1+
∑I

i′=1
i′ #=i

φ[!−1]
Ψi′m→bm

(i′)
, for ai = m

1, for ai $= m
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φ[!]
Ψim→bm

=
φai (m)

φai (0)+
∑M

m′=1
m′ #=m

φai (m
′)φ[!]

Ψim′→ai
(m′)

φ[0]
Ψim→bm

=
φai (m)

φai (0)+
∑M

m′=1
m′ #=m

φai (m
′)

(
i ∈ {1, . . . , I},m ∈ {1, . . . ,M}

)

L
κ̃xi(ai) =

{
φ[L]
Ψim→ai

(m), for ai = m ∈ {1, . . . ,M}
1, for ai = 0

φ[!]
Ψim→ai

= 1

1+
∑I

i′=1
i′ #=i

φ[!−1]
Ψi′m→bm

(i′)
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∑I
i=1 φ

[!]
Ψim→bm

(i) φ[!]
Ψim→bm

=
∑M

m=1φai(m)φ[!]
Ψim→ai

(m)

O(IM)


* ��'�"�( �* 
���( ��� 
* 
�� ��( +
�&-� ��#�" �� ��&��#� %����" ��"�����) ���$� �����( ��  ��"��!!( ��� 	� �#���"'(, ����
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Z =
{
zm

∣∣m ∈ {1, . . . ,M}
}

Z(c), c ∈ 1, . . . , C

z(c)

(C ! M)

Z(c)
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d(·, ·) ∆m1,m2

zm1
zm2

Z =
{
zm

∣∣m ∈ {1, . . . ,M}
}

d!
∆m1,m2

<d!(m1,m2)

d(zm1
, zm2

) =

√
(zm1

− zm2
)TΣ−1

v (zm1
− zm2
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� �� 
�� ��
 	� ��� 
����
�
�	�� 	� [1, 2, . . . , I]TΠI

d(∞)

2
=

1

I

(
minπ∈ΠI

∑I
i=1

‖xi − x̂π(i)‖2
)1/2

x = [x1,x2, . . . ,xI ]
T x̂ = [x̂1, x̂2, . . . , x̂Î ]

T

I = Î p = 2 η = ∞ d(xi,xj) = ‖xi − xj‖
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Î ! I

d(η)p (x, x̂) = 1

I

(
minπ∈ΠI

∑Î
i=1

d(η)(xi, x̂π(i))
p + ηp(I − Î)

)1/p

d(η)(xi, x̂j) = min(η, d(xi, x̂j))
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)1/p
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Î ! I

d(η)p (x, x̂) = 1

I

(
minπ∈ΠI

∑Î
i=1

d(η)(xi, x̂π(i))
p + ηp(I − Î)

)1/p

d(η)(xi, x̂j) = min(η, d(xi, x̂j))

Î > I

d(η)p (x̂,x) = 1

Î

(
minπ∈ΠÎ

∑I
i=1

d(η)(x̂i,xπ(i))
p + ηp(I − Î)

)1/p
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